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Christmas Addition

Solve the following word problems.

On Christmas Eve, Santa drank 2.25 gallons of milk
at one house and 1.75 gallons at another. How
much milk did Santa drink in total?

On Christmas, John received $25.50 from his
grandma and $15.75 from his uncle. How much
money did he receive in total?

Sarah used 3.75 yards of ribbon to decorate her
Christmas tree and 2.25 yards for her presents.
How much ribbon did she use in total?

Santa Claus bought 2.45 yards of red ribbon and
3.55 yards of green ribbon for gift wrapping. How
many yards of ribbon did he buy in total?

During the Christmas sale, a toy car costs $3.50
and a doll costs $2.50. If John buys one of each,
how much will he spend in total?

Mrs. Claus baked 1.25 |b of gingerbread cookies
and 2.75 Ib of sugar cookies. How many |b of
cookies did she bake in total?

A Christmas tree is 2.75 yards tall. The star on top
is 0.25 yards tall. How tall is the tree with the star
on top?

On Christmas Eve, a family watched 1.25 hours of

Christmas movies. On Christmas day, they watched
2.75 hours more. How much time did they spend

‘cﬁching Christmas movies?
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